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8. What does it mean for a systern to be overdetermined? Give an example. (3 points)
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MAT 202, Exam #1, Par§ Il, Summer 2016 Name

Instructions: Show all work. You may use a calculator on this portig
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2. Find a cubic moﬂel for the data in the table below.
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Year 2003 2004 2005 2006
Profit (millions) 10,526 11,330 12,715 12,599
Does it produce :a reasonable prediction for 2016? Why or why not? (5 points)
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b. Devise your own encoding scheme to allow for both lettars and positive integers. Describe
your scheme here. Then use A to encode the message REPQRT TO ROOM 314 AT 212 HUDSON
STREET in your scheme. (5 points)
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